a T 2640 L, a
75 2490 75
7oA —RIV R (27 PR : o
S < w
| § <=7 >
" ||m| mavou-rsa o
= S mbat ks =
S ||F 120 2 ©
5\l . 100
P 4\ i ESN .
. 1350 a9
Eﬁﬁ%ﬁw%dam)//, \ERONT >
MUBTBITI IV 2K " a=45.6=130,c275) oal

s =70
- g S—1/20)
o o~
120, 5 - 3 - Sy 9 —
23781 2 P) bt WA 50 & HAIE L—b
D13 A M10X 160 e g
VEL VEL o o
M
_|waL N\ ALl vol || NS & 3
2 DI0@300 PIALLIIIT ‘ - e & 100 F.L D&Moo
S PRy 4 = /7 — b EHITET
Vi A EEE”;B% 5 “Q% —
A .o L-ZE#®X%Z2 N CAl _
i T Do@300 AU [TTTTT] 200mmbLR & o < YN NANA NN NOO3 <  >S=1/50
300 D13 TRV 0350 | LTSk - B AavA S [ TIITIITITI]]
ERREERL GO TR F Mz o] (P S E [T @3 20 -
] [~ ] [~ ] ] |




